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Intersection d’une droite avec un cercle 
	

!(𝒙 − 𝒙𝟎)
𝟐 + (𝒚 − 𝒚𝟎)𝟐 = 𝒓𝟐

𝒚 = 𝒎𝒙 + 𝒉																												 								
	
Revoir	le	cours	:	
http://www.swisslearn.org/?sfwd-lessons=intersections-dune-droite-et-dun-cercle 
 
Vidéo : https://youtu.be/zIsBk05vvjw 
 
Exemple	
Calculer	les	coordonnées	des	points	P1	et	P2,	intersections	de	la	droite	d	et	du	cercle	c	:	
	
𝑐:	(𝑥 − 4)! + (𝑦 − 3)! = 8		
𝑑:	𝑦 = −𝑥 + 7		
	

0(𝑥 − 4)
! + (𝑦 − 3)! = 8

𝑦 = −𝑥 + 7																						 		

	
(𝑥 − 4)! + (−𝑥 + 7 − 3)! = 8		
𝑥! − 8𝑥 + 16 + (−𝑥 + 4)! = 8		
𝑥! − 8𝑥 + 16+𝑥! − 8𝑥 + 16 = 8		
2𝑥! − 16𝑥 + 24 = 0		
	
∆= (−16)! − 4 ∙ 2 ∙ 24 = 64					
𝑥 = "#±%

&
		

⇒ 𝑥" = 6 ⇒ 𝑦" = −6 + 7 = 1						
⇒ 𝑥! = 2 ⇒ 𝑦! = −2 + 7 = 5		
	
𝑃"(6; 1)			𝑃!(2; 	5)		
	

	

http://www.swisslearn.org/?sfwd-lessons=intersections-dune-droite-et-dun-cercle
https://youtu.be/zIsBk05vvjw
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Exercices	:	
	
	

1. Calculer	les	coordonnées	des	points	P	et	Q,	intersections	de	la	droite	𝑦 = 𝑥 + 1	et	
du	cercle	(𝑥 − 1)! + (𝑦 − 1)! = 25		
(Vérifier	graphiquement	les	résultats	

	
	

2. Calculer	les	coordonnées	des	points	M	et	N,	intersections	de	la	droite	𝑦 = 3𝑥 − 2	
et	du	cercle	(𝑥 + 1)! + (𝑦 − 2)! = 100	

	
	

3. Calculer	les	coordonnées	des	points	A	et	B,	intersections	de	la	droite	𝑦 = −𝑥	et	
du	cercle	(𝑥 + 1)! + 𝑦! = 16	

	
	


